621

Applied Mathematics & Information Sciences An International Journal

# Some Explicit Formulas for the Frobenius-Euler Polynomials of Higher Order

H. M. Srivastava<sup>1,2,\*</sup>, Mohamed Amine Boutiche<sup>3</sup> and Mourad Rahmani<sup>4</sup>

<sup>1</sup> Department of Mathematics and Statistics, University of Victoria, Victoria, British Columbia V8W 3R4, Canada

<sup>2</sup> Department of Medical Research, China Medical University Hospital, China Medical University, Taichung 40402, Taiwan, Republic of China

<sup>3</sup> USTHB, LaROMaD, Faculty of Mathematics, P. O. Box 32, El Alia 16111, Algiers, Algeria

<sup>4</sup> USTHB, Faculty of Mathematics, P. O. Box 32, El Alia 16111, Algiers, Algeria

Received: 27 Dec. 2016, Revised: 20 Feb. 2017, Accepted: 25 Feb. 2017 Published online: 1 Mar. 2017

**Abstract:** The object of the present paper is to investigate a class of three-term recurrence relations for the Frobenius-Euler polynomials of higher order. By making use of a new explicit formula for the Frobenius-Euler polynomials of higher order in terms of the weighted Stirling numbers of the second kind, we provide an algorithm for calculating these polynomials. Furthermore, as an application of the results derived in this paper, we present an algorithm for computing the Lipschitz-Lerch zeta function at nonnegative integer arguments.

**Keywords:** Algorithm; Euler polynomials and Euler numbers; Explicit formulas; Frobenius-Euler polynomials; Frobenius-Genocchi polynomials; Genocchi polynomials; Recurrence relations; Stirling numbers of the first and second kind; Whitney numbers of the second kind.

#### **1** Introduction

For  $\lambda \in \mathbb{C}$  with  $\lambda \neq 1$ , the Frobenius-Euler polynomials  $H_n^{(\alpha)}(x \mid \lambda)$  of order  $\alpha \in \mathbb{C}$ , are defined by the following generating function

$$\left(\frac{1-\lambda}{e^z-\lambda}\right)^{\alpha}e^{xz} = \sum_{n=0}^{\infty} H_n^{(\alpha)}\left(x\mid\lambda\right)\frac{z^n}{n!}.$$

When x = 0,

$$H_{n}^{(\alpha)}(0 \mid \lambda) = H_{n}^{(\alpha)}(\lambda)$$

are called the Frobenius-Euler numbers. Clearly, we have

$$H_n^{(\alpha)}(x \mid \lambda) = \sum_{k=0}^n \binom{n}{k} H_n^{(\alpha)}(\lambda) x^{n-k}.$$
 (1)

The generalized Euler polynomials  $E_n^{(\alpha)}(x)$ , given by

$$E_n^{(\alpha)}(x) := H_n^{(\alpha)}(x \mid -1)$$

are defined by the following generating function

$$\left(\frac{2}{e^z+1}\right)^{\alpha}e^{xz} = \sum_{n=0}^{\infty} E_n^{(\alpha)}(x)\frac{z^n}{n!}.$$

In the special case when  $\alpha = 1$ , the Frobenius-Euler polynomials are reduced to the Eulerian polynomials given by

$$H_n^{(1)}(x \mid \lambda) := H_n(x \mid \lambda),$$

which are widely cited in the literature. For an expository survey on this topic, we refer the reader to [7].

Recently, many research articles were devoted to the study of the Frobenius-Euler polynomials [9, 13] and many generalizations were introduced [14, 16]. As an example of a recent application of the Frobenius-Euler polynomials, T.-X. He [11] presented a relationship between  $H_n(x \mid \lambda)$  and *B*-splines (see also [1, 15]).

In this paper, we propose to investigate several explicit formulas of the Frobenius-Euler polynomials  $H_n^{(\alpha)}(x \mid \lambda)$ of order  $\alpha$  in terms of the weighted Stirling numbers of the second kind. As a consequence of our investigation,

<sup>\*</sup> Corresponding author e-mail: harimsri@math.uvic.ca

we provide an algorithm computing the Frobenius-Euler polynomials  $H_n^{(\alpha)}(x \mid \lambda)$ .

We first recall some basic definitions and some results that will be useful in the rest of the paper. For  $v \in \mathbb{C}$ , the Pochhammer symbol  $(v)_n$  is defined by

$$(v)_n = v(v+1)\cdots(v+n-1)$$
 and  $(v)_0 = 1.$ 

The (signed) Stirling numbers s(n,k) of the first kind are the coefficients in the following expansion:

$$x(x-1)\cdots(x-n+1) = \sum_{k=0}^{n} s(n,k) x^{k}.$$

and satisfy the recurrence relation given by

$$s(n+1,k) = s(n,k-1) - ns(n,k)$$
  $(1 \le k \le n)$ . (2)

The Stirling numbers of the second kind, denoted by S(n,k), are the coefficients in the following expansion:

$$x^{n} = \sum_{k=0}^{n} k! \binom{x}{k} S(n,k).$$

The exponential generating functions for s(n,k) and S(n,k) are given by

$$\sum_{n=k}^{\infty} s(n,k) \ \frac{z^n}{n!} = \frac{1}{k!} \left[ \ln \left( 1 + z \right) \right]^k$$

and

$$\sum_{n=k}^{\infty} S(n,k) \, \frac{z^n}{n!} = \frac{1}{k!} \, (e^z - 1)^k \,,$$

respectively.

For any nonnegative integer r, the r-Stirling numbers  $S_r(n,k)$  of the second kind, which were introduced by Broder [3], are a generalization of the familiar Stirling numbers S(n,k) of the second kind. In fact, the numbers  $S_r(n,k)$  count the number of partitions of a set of n objects into exactly k nonempty and disjoint subsets such that the first r elements are in distinct subsets. Furthermore, their exponential generating function is given by

$$\sum_{n=k}^{\infty} S_r (n+r,k+r) \frac{z^n}{n!} = \frac{1}{k!} e^{rz} (e^z - 1)^k.$$

For any positive integer *m*, the *r*-Whitney numbers  $W_{m,r}(n,k)$  of the second kind, which were introduced by Mezö [18], are the coefficients in the following expansion:

$$(mx+r)^{n} = \sum_{k=0}^{n} m^{k} W_{m,r}(n,k) x(x-1) \cdots (x-k+1)$$

and are given by their generating function as follows:

$$\sum_{n=k}^{\infty} W_{m,r}(n,k) \frac{z^n}{n!} = \frac{1}{m^k k!} e^{rz} \left( e^{mz} - 1 \right)^k.$$

Clearly, we have

$$W_{1,0}(n,k) = S(n,k)$$
 and  $W_{1,r}(n,k) = S_r(n+r,k+r)$ .

For more details on these numbers, we refer the reader to [10, 19, 21, 25] and also to the references cited therein.

The weighted Stirling numbers  $\mathscr{S}_n^k(x)$  of the second kind are defined by (see [4,5])

$$\begin{aligned} \mathscr{S}_n^k(x) &= \frac{1}{k!} \Delta^k x^n \\ &= \frac{1}{k!} \sum_{j=0}^k \left( -1 \right)^{k-j} \binom{k}{j} \left( x+j \right)^n, \end{aligned}$$

where  $\Delta$  denotes the forward difference operator. The exponential generating function of  $\mathscr{S}_n^k(x)$  is given by

$$\sum_{n=k}^{\infty} \mathscr{S}_{n}^{k}(x) \frac{z^{n}}{n!} = \frac{1}{k!} e^{xz} \left(e^{z} - 1\right)^{k}$$
(3)

and weighted Stirling numbers  $\mathscr{S}_n^k(x)$  satisfy the following recurrence relation:

$$\mathscr{S}_{n+1}^k(x) = \mathscr{S}_n^{k-1}(x) + (x+k)\mathscr{S}_n^k(x) \qquad (1 \le k \le n).$$

As a consequence from the generating function (3), one can deduce the following results:

$$\mathscr{S}_{n}^{k}(0) = S(n,k), \qquad (4)$$

$$\mathscr{S}_{n}^{k}(r) = S_{r}(n+r,k+r)$$
(5)

and

$$m^{n-k} \mathscr{S}_n^k\left(\frac{r}{m}\right) = W_{m,r}\left(n,k\right).$$
(6)

### 2 Explicit Formulas for the Frobenius-Euler Polynomials of Order $\alpha$

An explicit formula for the Frobenius-Euler polynomials  $H_n^{(\alpha)}(x \mid \lambda)$  of order  $\alpha \in \mathbb{C}$ , expressed in terms of the weighted Stirling numbers of the second kind, is given by the following result.

**Theorem 1.** *The following relationship holds true:* 

$$H_n^{(\alpha)}(x \mid \lambda) = \sum_{k=0}^n \frac{(\alpha)_k}{(\lambda - 1)^k} \mathscr{S}_n^k(x).$$
(7)

*Proof.* From (3), we have

$$\sum_{n=0}^{\infty} \left( \sum_{k=0}^{n} \frac{(\alpha)_{k}}{(\lambda-1)^{k}} \mathscr{S}_{n}^{k}(x) \right) \frac{z^{n}}{n!}$$
$$= \sum_{k=0}^{\infty} \frac{(\alpha)_{k}}{(\lambda-1)^{k}} \left( \sum_{n=k}^{\infty} \mathscr{S}_{n}^{k}(x) \frac{z^{n}}{n!} \right)$$
$$= e^{xz} \sum_{k=0}^{\infty} (\alpha)_{k} \frac{1}{k!} \left( \frac{e^{z}-1}{\lambda-1} \right)^{k}.$$

Since

$$\sum_{n=0}^{\infty} (a)_n \frac{z^n}{n!} = (1-z)^{-a},$$

we get

$$\sum_{n=0}^{\infty} \left( \sum_{k=0}^{n} \frac{(\alpha)_{k}}{(\lambda-1)^{k}} \mathscr{S}_{n}^{k}(x) \right) \frac{z^{n}}{n!} = e^{xz} \left( 1 - \frac{e^{z} - 1}{\lambda - 1} \right)^{-a}$$
$$= \sum_{n=0}^{\infty} H_{n}^{(\alpha)}(x \mid \lambda) \frac{z^{n}}{n!},$$

which gives, by identification, the desired result.

**Remark 1.** By setting x = 0 and  $\alpha = \mathfrak{s}$  ( $\mathfrak{s}$  being a positive integer) in (7), we have

$$H_n^{(\mathfrak{s})}(\lambda) = \sum_{k=0}^n \frac{(\mathfrak{s})_k}{(\lambda-1)^k} S(n,k),$$

which is a result due to Carlitz [6].

**Remark 2.** By substituting  $\alpha = 1$ , Theorem 1 is reduced to the known result given earlier by Chang and Ha [8].

**Remark 3.** If we set  $x = \frac{r}{m}$  in (7) and using (6), we obtain an explicit representation for  $H_n^{(\alpha)}(x \mid \lambda)$  at rational arguments involving the *r*-Whitney numbers  $W_{m,r}(n,k)$  of the second kind.

$$H_n^{(\alpha)}\left(\frac{r}{m}\big|\lambda\right) = \sum_{k=0}^n \frac{(\alpha)_k}{(\lambda-1)^k} m^{k-n} W_{m,r}(n,k).$$

In particular, for m = 1, we have

$$H_n^{(\alpha)}(r \mid \lambda) = \sum_{k=0}^n \frac{(\alpha)_k}{(\lambda-1)^k} S_r(n+r,k+r).$$

**Remark 4.** Setting  $\lambda = -1$ , we obtain the following explicit formula for the generalized Euler polynomials  $E_n^{(\alpha)}(x)$ :

$$E_n^{(\alpha)}(x) = \sum_{k=0}^n \frac{(-1)^k}{2^k} (\alpha)_k \mathscr{S}_n^k(x),$$

which was given by Boutiche *et al.* [2].

### 3 Frobenius-Genocchi Polynomials of Higher Order

Recently, Yılmaz Yaşar and Özarslan [26] introduced and studied a new family of polynomials, called Frobenius-Genocchi polynomials, which are defined by the following generating function:

$$\frac{(1-\lambda)z}{e^z-\lambda}e^{xz} = \sum_{n=0}^{\infty}G_n(x \mid \lambda) \frac{z^n}{n!}.$$

It is natural that we define the generalization of the Frobenius-Genocchi polynomials by means of the following generating function:

$$\left(\frac{(1-\lambda)z}{e^z-\lambda}\right)^{\alpha}e^{xz} = \sum_{n=0}^{\infty}G_n^{(\alpha)}\left(x\mid\lambda\right)\frac{z^n}{n!}.$$
(8)

We call  $G_n^{(\alpha)}(x \mid \lambda)$  in (8) the Frobenius-Genocchi polynomials of order  $\alpha$ . When x = 0,

$$G_n^{(\alpha)}(0 \mid \lambda) = G_n^{(\alpha)}(\lambda)$$

denote the Frobenius-Genocchi numbers of order  $\alpha$ .

The generalized Genocchi polynomials  $G_n^{(\alpha)}(x)$ , given by (see, for details, [12, 23])

$$G_n^{(\alpha)}(x) := G_n^{(\alpha)}(x \mid -1)$$

are defined by the following generating function:

$$\left(\frac{2z}{e^z+1}\right)^{\alpha}e^{xz} = \sum_{n=0}^{\infty} G_n^{(\alpha)}(x)\frac{z^n}{n!}.$$
(9)

By setting  $\alpha = 1$  in (9), we obtain the classical Genocchi polynomials:

$$G_n(x) := G_n^{(1)}(x) \,.$$

It is obvious that  $G_n^{(\alpha)}(x \mid \lambda)$  belongs to the class of Appell polynomials. Some of the well-known properties are readily derived from (8). For example, we have

$$\frac{d}{dx}G_{n}^{(\alpha)}\left(x\mid\lambda\right)=nG_{n-1}^{(\alpha)}\left(x\mid\lambda\right)$$

and

$$G_n^{(\alpha)}(x \mid \lambda) = \sum_{k=0}^n \binom{n}{k} G_n^{(\alpha)}(\lambda) x^{n-k}.$$
 (10)

**Theorem 2.** *The following explicit formulas hold true:* 

$$G_{n}^{(l)}(x \mid \lambda) = \frac{n!}{(n-l)!} H_{n-l}^{(l)}(x \mid \lambda)$$
(11)

$$= \frac{n!}{(n-l)!} \sum_{k=0}^{n-l} \frac{(l)_k}{(\lambda-1)^k} \mathscr{S}_{n-l}^k(x).$$
(12)

The following corollary is derivable easily from Theorem 2.

**Corollary.** The Frobenius-Genocchi polynomials  $G_n^{(l)}(x \mid \lambda)$  of order l at rational arguments are given by

$$G_{n}^{(l)}\left(\frac{r}{m} \mid \lambda\right) = \frac{n!}{m^{n-l}(n-l)!} \sum_{k=0}^{n-l} \frac{(l)_{k}}{(\lambda-1)^{k}} m^{k} W_{m,r}(n-l,k)$$

in terms of the Whitney numbers of the second kind.

By setting x = 0 in Theorem 2, we obtain the following explicit formula for the Frobenius-Genocchi numbers of order  $\alpha$ :

$$G_n^{(l)}(\lambda) = \frac{n!}{(n-l)!} \sum_{k=0}^{n-l} \frac{(l)_k}{(\lambda-1)^k} S(n-l,k)$$

By setting  $\lambda = -1$  in (12), we obtain an explicit formula for the Genocchi polynomials  $G_n^{(l)}(x)$  of order *l* as follows:

$$G_n^{(l)}(x) = \frac{n!}{(n-l)!} \sum_{k=0}^{n-l} \frac{(-1)^k}{2^k} (l)_k \mathscr{S}_{n-l}^k(x).$$
(13)

If we set x = 0 in (13), we obtain an explicit formula for the generalized Genocchi numbers of order *l*, which is given by Luo and Srivastava [17, p. 5709, Eq. (53)].

## 4 Recurrence Relations for the Frobenius-Euler Polynomials of Higher Order

In this section, we propose an algorithm, which is based on a three-term recurrence relation, for calculating the Frobenius-Euler polynomials  $H_n^{(\alpha)}(x \mid \lambda)$  of order  $\alpha$ . First, by setting x = 0 in Theorem 1, we obtain the following explicit formula for the Frobenius-Euler numbers:

$$H_n^{(\alpha)}(\lambda) = \sum_{k=0}^n \frac{(\alpha)_k}{(\lambda-1)^k} S(n,k).$$

Now, by means of the Stirling transform (see, for details, [20]), we obtain

$$\frac{(\alpha)_n}{(\lambda-1)^n} = \sum_{k=0}^n s(n,k) H_k^{(\alpha)}(\lambda) \,.$$

Next, it is convenient to introduce the sequence  $\mathscr{A}_{n,m}^{(\alpha)}(\lambda)$  with two indices as follows:

$$\mathscr{A}_{n,m} := \mathscr{A}_{n,m}^{(\alpha)}(\lambda) = \frac{(\lambda-1)^m}{(\alpha)_m} \sum_{k=0}^m s(m,k) H_{n+k}^{(\alpha)}(\lambda) \quad (14)$$

together with

$$\mathscr{A}_{0,m} = 1$$
 and  $\mathscr{A}_{n,0} = H_n^{(\alpha)}(\lambda)$ .

**Theorem 3.** The  $\mathscr{A}_{n,m}^{(\alpha)}(\lambda)$  satisfies the following threeterm recurrence relation:

$$\mathscr{A}_{n+1,m} = \frac{m+\alpha}{\lambda-1} \mathscr{A}_{n,m+1} + m \mathscr{A}_{n,m}$$
(15)

with the initial sequence given by

$$A_{0,m} = 1.$$

*Proof.* From (14) and (2), we have

$$\mathscr{A}_{n,m+1} = \frac{(\lambda - 1)^{m+1}}{(\alpha)_{m+1}} \sum_{k=0}^{m+1} [s(m, k - 1) - ms(m, k)] H_{n+k}^{(\alpha)}(\lambda)$$

After some rearrangement, we find that

$$\mathscr{A}_{n,m+1} = \frac{(\alpha)_m}{(\alpha)_{m+1}} (\lambda - 1) \mathscr{A}_{n+1,m} - \frac{m(\lambda - 1)(\alpha)_m}{(\alpha)_{m+1}} \mathscr{A}_{n,m}.$$

This evidently completes the proof of Theorem 3.

Finally, we consider the polynomials  $\mathscr{A}_{n,m}^{\left(\alpha\right)}\left(x,\lambda\right)$  defined by

$$\mathscr{A}_{n,m}(x) := \mathscr{A}_{n,m}^{(\alpha)}(x,\lambda) = \sum_{k=0}^{n} \binom{n}{k} \mathscr{A}_{k,m}^{(\alpha)}(\lambda) x^{n-k}.$$

It obviously follows from (1) that

$$\mathscr{A}_{0,m}^{(\alpha)}(x,\lambda) = 1$$

and that

$$\mathscr{A}_{n,0}^{(\alpha)}(x,\lambda) = H_n^{(\alpha)}(x \mid \lambda).$$

**Theorem 4.** The polynomials  $\mathscr{A}_{n,m}^{(\alpha)}(x,\lambda)$  satisfy the following three-term recurrence relation:

$$\mathscr{A}_{n+1,m}(x) = (x+m)\,\mathscr{A}_{n,m}(x) + \frac{m+\alpha}{\lambda-1}\,\mathscr{A}_{n,m+1}(x) \quad (16)$$

with the initial sequence given by

$$\mathscr{A}_{0,m}(x) = 1.$$

Proof. It is readily seen that

$$x\frac{d}{dx}\mathscr{A}_{n,m}(x) = n\sum_{k=0}^{n} \binom{n}{k} \mathscr{A}_{k,m}^{(\alpha)}(\lambda) x^{n-k}$$
$$-n\sum_{k=0}^{n-1} \binom{n-1}{k} \mathscr{A}_{k+1,m}^{(\alpha)}(\lambda) x^{n-k-1}$$

By using (15), we obtain

$$x\frac{d}{dx}\mathscr{A}_{n,m}(x) = n\mathscr{A}_{n,m}(x)$$
$$-n\sum_{k=0}^{n-1} \binom{n-1}{k} \left(\frac{m+\alpha}{\lambda-1}\mathscr{A}_{k,m+1} + m\mathscr{A}_{k,m}\right) x^{n-k-1}$$
$$= n\mathscr{A}_{n,m}(x) - n\frac{m+\alpha}{\lambda-1}\sum_{k=0}^{n-1} \binom{n-1}{k} \mathscr{A}_{k,m+1} x^{n-k-1}$$
$$-nm\sum_{k=0}^{n-1} \binom{n-1}{k} \mathscr{A}_{k,m} x^{n-k-1}$$

After some manipulations, we thus find that

$$xn\mathcal{A}_{n-1,m}(x) = n\mathcal{A}_{n,m}(x) - n\frac{m+\alpha}{\lambda-1}\mathcal{A}_{n-1,m+1}(x)$$
$$-nm\mathcal{A}_{n-1,m}(x)$$

which is obviously equivalent to (16).

As an immediate application of (16), let us consider the Lipschitz-Lerch zeta function defined by (see [22,24])

$$\phi(s, a, \xi) := \sum_{k=0}^{\infty} \frac{e^{2\pi i k \xi}}{(a+k)^s}$$
(17)

 $(a > 0; \Re(s) > 0 \text{ when } \xi \in \mathbb{R} \setminus \mathbb{Z}; \Re(s) > 1 \text{ when } \xi \in \mathbb{Z}).$ 

It is well-known that, if  $\xi$  is not an integer, the Lipschitz-Lerch zeta function  $\phi(s, a, \xi)$  is an entire function in  $s \in \mathbb{C}$  and also that the values of  $\phi(s, a, \xi)$  when s := -n is nonnegative integer are given in terms of Eulerian polynomials  $H_n(x \mid \lambda)$  by (see [8])

$$\phi\left(-n,a,\xi\right) = \left(1 - e^{2\pi i\xi}\right)^{-1} H_n\left(a \middle| e^{-2\pi i\xi}\right).$$

We now present the following algorithm for  $\phi(-n, a, \xi)$ . We start with the sequence  $\mathscr{R}_{0,m} := 1$  as the first row of the matrix  $(\mathscr{R}_{n,m})_{n,m\geq 0}$ . Each entry is determined recursively by

$$\mathscr{R}_{n+1,m} = (a+m)\mathscr{R}_{n,m} + \frac{m+1}{e^{-2\pi i\xi} - 1}\mathscr{R}_{n,m+1}.$$

Then

$$\phi\left(-n,a,\xi\right) := \frac{\mathscr{R}_{n,0}}{1 - e^{2\pi i\xi}},\tag{18}$$

where  $\mathscr{R}_{n,0}$  are the first column of the matrix  $(\mathscr{R}_{n,m})_{n,m}$ .

#### References

- S. Araci and M. Açikgöz, A note on the Frobenius-Euler numbers and polynomials associated with Bernstein polynomials, *Adv. Stud. Contemp. Math.* (*Kyungshang*), 22 (2012), 399–406.
- [2] M. A. Boutiche, M. Rahmani and H. M. Srivastava, Explicit formulas associated with some families of generalized Bernoulli and Euler polynomials, *Mediterr. J. Math.* (in press); DOI: 10.1007/s00009-017-0891-0.
- [3] A. Z. Broder, The *r*-Stirling numbers, *Discrete Math.* **49** (1984), 241–259.
- [4] L. Carlitz, Weighted Stirling numbers of the first and second kind. I, *Fibonacci Quart.* 18 (1980), 147–162.
- [5] L. Carlitz, Weighted Stirling numbers of the first and second kind. II, *Fibonacci Quart.* 18 (1980), 242–257.
- [6] L. Carlitz, Eulerian numbers and polynomials of higher order, Duke Math. J. 27 (1960), 401–423.
- [7] L. Carlitz, Eulerian numbers and polynomials, *Math. Mag.* 32 (1958/1959), 247–260.
- [8] C.-H. Chang and C.-W. Ha, A multiplication theorem for the Lerch zeta function and explicit representations of the Bernoulli and Euler polynomials, *J. Math. Anal. Appl.* **315** (2006), 758–767.
- [9] J. Choi, D. S. Kim, T. Kim and Y. H. Kim, A note on some identities of Frobenius-Euler numbers and polynomials, *Internat. J. Math. Math. Sci.* **2012** (2012), Article ID 861797, 1–9.

- [10] R. L. Graham, D. E. Knuth and O. Patashnik, *Concrete Mathematics: A Foundation for Computer Science*, Second edition, Addison-Wesley Publishing Company, Reading, Massachusetts, 1994.
- [11] T.-X. He, Eulerian polynomials and *B*-splines, *J. Comput. Appl. Math.* **236** (2012), 3763–3773.
- [12] Y. He, S. Araci, H. M. Srivastava and M. Açikgöz, Some new identities for the Apostol-Bernoulli polynomials and the Apostol-Genocchi polynomials, *Appl. Math. Comput.* 262 (2015), 31–41.
- [13] D. S. Kim and T. Kim, Some new identities of Frobenius-Euler numbers and polynomials, *J. Inequal. Appl.* 2012 (2012), Article ID 307, 1–10.
- [14] D. S. Kim and T. Kim, Higher-order Frobenius-Euler and poly-Bernoulli mixed-type polynomials, *Adv. Difference Equ.* 2013 (2013), Article ID 251, 1–13.
- [15] T. Kim, S.-H. Rim, Y. Simsek and D. Kim, On the analogs of Bernoulli and Euler numbers, related identities and zeta and *L*-functions, *J. Korean Math. Soc.* 45 (2008), 435–453.
- [16] B. Kurt and Y. Simsek, On the generalized Apostol-type Frobenius-Euler polynomials, *Adv. Difference Equ.* 2013 (2013), Article ID 1, 1–9.
- [17] Q.-M. Luo and H. M. Srivastava. Some generalizations of the Apostol-Genocchi polynomials and the Stirling numbers of the second kind, *Appl. Math. Comput.* **217** (2011), 5702– 5728.
- [18] I. Mezö, A new formula for the Bernoulli polynomials, *Result. Math.* 58 (2010), 329–335.
- [19] M. Mihoubi and M. Rahmani, The partial *r*-Bell polynomials [arXiv:1308.0863].
- [20] M. Rahmani, Generalized Stirling transform, *Miskolc Math. Notes* 15 (2014), 677–690.
- [21] M. Rahmani, Some results on Whitney numbers of Dowling lattices, Arab J. Math. Sci. 20 (2014), 11–27.
- [22] H. M. Srivastava, Some formulas for the Bernoulli and Euler polynomials at rational arguments, *Math. Proc. Cambridge Philos. Soc.* **129** (2000), 77–84.
- [23] H. M. Srivastava, Generating relations and other results associated with some families of the extended Hurwitz-Lerch Zeta functions, *SpringerPlus* 2 (2013), Article ID 2:67, 1–14.
- [24] H. M. Srivastava and J. Choi, Series Associated with the Zeta and Related Functions, Kluwer Academic Publishers, Dordrecht, Boston and London, 2001.
- [25] H. M. Srivastava and J. Choi, Zeta and q-Zeta Functions and Associated Series and Integrals, Elsevier Science Publishers, Amsterdam, London and New York, 2012.
- [26] B. Yiłmaz Yaşar and M. A. Özarslan, Frobenius-Euler and Frobenius-Genocchi polynomials and their differential equations, *New Trends Math. Sci.* **3** (2015), 172–180.



H. М. **Srivastava** For the author's biographical and other professional details (including the lists of his most recent publications such as Journal Articles, Books, Monographs and Edited Volumes, Book Chapters, Encyclopedia Chapters, Papers Conference in



Mourad Rahmani received his Ph.D. degree in Mathematical Science from the University of Sciences and Technology Houari Boumediene (USTHB) at Algiers in Algeria in the year 2013. Currently, he is an Associate Professor of Mathematics at USTHB. His main research interests are

Number Theory, Combinatrorics and Special Functions.



Mohamed Amine Boutiche is Assistant Professor of Mathematics at the University of Sciences Technology and Houari Boumediene (USTHB) and a Member of the Laboratry Operations Research of and Mathematics of Decision (LaROMaD) team GMAS-3I.

He received his Ph.D. degree in Mathematics at USTHB University of Algiers in Algeria in the year 2013. His current research interests include Combinatorics, Discrete Mathematics, Number Theory, Graph Theory, and Topological Indices. He is a Member of the Algerian Mathematical Society. He has published several papers in international referred journals.

Proceedings, Forewords to Books and Journals, et cetera),

the interested reader should look into the following Web

Site: http://www.math.uvic.ca/faculty/harimsri.